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REHIR : SATESH1H (0k) ~ ST EA3E (2) (84T 1 \°Jblk/kg)
3 S - - REH | .. REREE] .. BERAE
== A3y mB R (58) 94134 (2794134) 940137 (£594137)

1 |% - =0cHE|[ET0C B RSE TS | BEN]| R 12.2 | TR 10.9
2 % - =0cB[H0C ALRSEI RS [ 2980k | MR 12.0 | R 9.7
3 |E - =0cE|[ET0C BLHENITL | 298 0K)| R 12.2 | R 1.1
L |Zofh WwWobLUICL R LLr iR ET &R THON) | A1&EH 11.0 42.0 9.9
5 [ZOf DOLULL  |BLHeal s | 8HOK| Rk 9.2 | R 8.2
6 |[Zofh WwWobLUICL BB LT AR T h Ey 8H(K)| A1&EH 11.9 26.7 9.4
7 |[Zofh WoLUICL LT AR ET R R THON) | A&EH 8.9 18.2 4.1
8 |Zofh WoLUICL LRI fRR THON) | A1&EH 10.8 20.2 8.4
9 |[Zofth WwWoLUICL AL R ] i 8H(K)| A1&EH 7.9 19.6 3.6
10 [ZoDb WwWoLUICL BB LI A ma BT A2 8H (7k) 11.1 9.0 66.2 14.0
M 2o DOLULL | BLmeal=f | 10| Bl 8.0 9.7 5.8
12 |Z0Db WwWobLUICL B LT ET = 1% 8H(K)| A1&EH 7.8 67.1 6.4
13 [Z0Db <FICL R LLr AR ET &R 29H(7K)| A& 12.7 26.2 6.1
14 |[ZDb <FICL BB LT AR T h Ey 9H (&) A1EH 13.0 43,1 5.9
15 [ZoDb <FICL AL AR ] i 9H (&) A1EH 10.6 28.6 4.9
16 |[ZFD1h <FICL BB LT R ] i 9H (AK)| A1EH 14.4 26.2 6.5
17 |[ZDb <FICL LT HEII =1~ THON) | A1&EH 10.5 26.1 5.0
18 [ZoD1h <FICL LT HEII =1~ 8H(K)| A1&EH 5.5 59.4 4.9
19 [ZoDb <FICL BB LT s ET 18R 9H ()| A1EH 12.0 29.8 5.4
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